Algebra
Chapter 7: Slope and Lines
7.6: Writing Linear Equations Given the Slope and a Point
Review
Write an equation of the line with the following information.

1) The slope is 5 and the y-intercept is -2.

2) The slope is 
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 and the y-intercept is 1.

3) The slope is 0 and the y-intercept is 
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Solve each equation for ‘b’.
4) 8 = (-2)(3) + b
5) -2 = 
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(-3) + b

Using the Slope and a Point on the line to make and equation

Substitute the information we know into the equation and solve for the y-intercept. Then, write the equation of the line.
EX) The line has a slope (m) of -2 and passes through the point (6, -3). Find the equation.
i) Things we know: m = -2.




When x = 6, y = -3

ii) Substitute into the equation for a line.


y = m*x + b


(-3) = (-2)(6) + b

iii) Solve for the variable we are missing, b.


  -3 = -12 + b


+12   +12


 9 = b

iii) Write the equation of the line.


y = -2 *x + 9

6) The line has a slope (m) of -3 and passes through the point (5, -1). Find the equation.
i) Things we know: 
ii) Substitute into the equation for a line.

iii) Solve for the variable we are missing, b.

iii) Write the equation of the line.

7) The line has a slope (m) of 2 and passes through the point (4, 6). Find the equation.

i) Things we know: 
ii) Substitute into the equation for a line.

iii) Solve for the variable we are missing, b.

iii) Write the equation of the line.

8) The line has a slope (m) of -1 and passes through the point (8, 0). Find the equation.

i) Things we know: 
ii) Substitute into the equation for a line.

iii) Solve for the variable we are missing, b.

iii) Write the equation of the line.

Now try finding the equation without the steps listed for you.
9) The line has a slope (m) of -5 and passes through the point (0, 9). Find the equation.

10) The line has a slope (m) of 11 and passes through the point (2.5, -1.5). Find the equation.

11) The line has a slope (m) of 
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 and passes through the point (-4, 1). Find the equation.

_1259124676.unknown

_1259124791.unknown

_1259131768.unknown

_1259124642.unknown

